|inear. C omeinaT ONS
RecaLl: E(aX 1) = a E() + b

\ar (aLX+ BB = a° Var (X)

For tvs K oad Yo E(X*‘[B = E(X\J( E(Y> I;W:I £
Wby ? () lfﬁm v) #(9) dudy :“ ) dndy *ﬂo; { loy) dudy

—o= A2

:5% £ dn ~+ O;%M dy = E<X>+E<Y>
E(aX-bY) = aB(X) + bE(Y)

Vae (32Y) = Vor () + Vor () + 2 Cor (%,7)

6 X ad Y e indepadet’  Vor (X3) = Var (X) + Vor (Y)

For- any rvs X/ \[: \Var (O‘XJ'bY) = o™ Var @Q " Var (Y) + Lok C"V(X,Y)

Example:  E(¢-v) = £(x)-E(Y)
Vor(X-Y) = Vor (30) + Var () = 2 Gou (%,7Y)

\WHAT IF WE HAVE 3 VARIABLES !
E(X+Y+2)= E(X) ~ ECY) ~E(2)

Vac (X3 2) = Var (%) + Nor (M)« Vo (2)+ 2 Con (%) + 2 C(%,2) + 2Cov (Y 2)

GENERAL Formul A: P-321 in besk






